ČETVRTAK, 23.4.2020.
[bookmark: _GoBack]RIJEŠI ZADATKE I PREPIŠI IH U BILJEŽNICU:

1. OD ZBROJA BROJEVA  5 112, 1 226  I  1 242, ODUZMI  ZBROJ BROJEVA 55, 674  I  1 406.
RAČUN:






REZULTAT:


1. ZBROJI:

    5  290                              1  008                          3  109
+  2  818                          +  8  992                       + 6  891


1. ODUZMI
    7  983                              5  809                          7  936
-  5  994                          -   1  989                       -  6  947

